Start

\
N
7
/

3 3 3 7 5 14 1 3 9 3

2 5 7 9 6 15 6 12 4 2
2 2 4 7 1 5 1 1 5 9 1 4 2 8
3 5 15 8 4 8 3 2 6 2 2 7 3 10
3,43 1112 14 _,2 3. 2_ 1V 17
4 5 5 2 3 5 5 5 4 3 12 3 3
5 4 1 4 3 1

8 5 3 3 2 3 3 5 10 10 9 36
8.,.2 1 (5y_ 10 ! 933 !381 21 17
9 9 12 s'g 8§ | 73 21 4 4

Finish




wmh 7/




Bob has given in his fraction homework and your job is to mark it.
For each question, work out if the answer given is right or wrong.
If it is wrong, can you describe the misconception?

a) 1-x3=3> g 4x>=29
6 9 36

2 2 4 3 1 2

) —X—=—— e) —_——_——
3 5 15 3 21
c) ﬂ+ 3 =1 1 f) Z+§:E
5 10 10 9 6 15



Bob has given in his fraction homework and your job is to mark it.
For each question, work out if the answer given is right or wrong.

If it is wrong, can you describe the misconception?
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i) general rule

practice makes perfect: fraction addition explorations

ii) addition pyramids

iii) generalising

1 1 1 l
23 T g
1 1 i i
10715 12
1 1 ._2_+i
[V IMET 5 2
1 1 4 1
——— e — e c—
122 9 "2
1 1 _

20 © 30 what is the pattern for

what is the pattern for
these questions?

what is the pattern in the

these questions?

what is the pattern in the
results?

test that the rule works
and try to explain the
result

results? try to create a similar fraction
pyramid, using fairly simple
try to explain the resuit fractions




practice makes perfect: fraction subtraction (show your steps)
1) 2) 3) 4) 5) 6)
3.3 I _3 1_3 1 _3 5 1 3_1
10 ) 10 S 5 35 10 70 5 10 4 20
7) 8) 9) 10) 1) 12)
S8 S _ 59 B_5 a5 S 8L 33
7 5 10 70 7 3 3 7 35 10 35 10
13) 14) » : L I
work out work out the missing fractions using 2, 3,4 and 5
which is the smallest?
3 _ 2 a_ e a3 e
4 3 4 ' 12 7 4 2 ™
\5 3/
5 4 5 =4 ] TS
6 5 4 " 28 | e
{ 3 _2
. 4 5
.1_9 - _g_ 2. - ? = -1_. """""""""""""""""""
110 4 S 44 %
5 —
§ 83 _2™
l - i i - 7?7 = l c ..."-.. 5 4 P
8 7 4 . 60 8 ..........................




1) 2) 3) 4) 5) 6)
S el S5 T wd 4.5 38 1 1
45 6 4 9 "3 56 4779 LR
7) 8) 9) 10) 11) 12)
, 1,10 8,25 3,9 3.y 17 3,25
2% x 2% 6 21 15 " 24 il 413 4" 19
below but close to a half L find th w
elow but close to a ha ind the 3
missing % X % =% " 60 = 24
4 fractions = X
2 0,482 1
= X = |=— AL =
abdale 7 60 25
2 -2 .3
4 5 6 5 60 = 26
3 Q X g :-;
e 3
4 O 0 2 60 = 27
Q X Q :..1_.
2
3 x can you get U . 3 & 60 = 28
S any closer? L T 8 5
8 15




